


В-1:   20+2+8+40
          30+3+50+7

В-2:    6+40+4+20
          1+10+9+60



В-1: 20+2+8+40=( 20+40)+(2+8) = 70
        30+3+50+7=(30+50)+(3+7) = 90

В-2: 6+40+4+20=(6+4)+(40+20) = 70
        1+10+9+60=(1+9)+(10+60) = 80



Переместительное
 свойство сложения

а+ в = в + а
Сочетательное 

свойство сложения
(а + в)+ с = а +(в + с)



Сравните данные 
выражения:

30+6=

20+5=

36+2=

40+7=



Устные приёмы 
вычисления вида 

36+2, 36+20





В-1: 13+6=19    42+6=48    53+10=63    4+73=77

В-2: 81+5=86    30+24=54   65+30=95   20+73=93



М. - 33г.
П. - ? на 6 лет  >



Я удивился…
Я узнал…
Мне запомнилось…
Мне понравилось…
Мне было 
непонятным…






